SUPPLEMENTAL MATERIALS

Slido Ranking Poll Score Calculation
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How we calculate the scores

With the ranking poll, participants essentially give points to each option and the higher
someone ranks an option, the more points it receives. Using an example of participants
needing to rank 3 options, the option ranked first receives 3 points, the second gets

2 points and the third gets 1 point.

Once voting is over, we count up these points for each option and divide it by the
number of people who participated in the ranking poll. This gives us an average, ranked
score for each option and the option with the highest score is the most preferred one.

Example:

There are 3 people (A, B, C) participating in a poll that consists of three options (X,
Y, 2)

Person A submits the options in the following order: X, Y, Z

Person B submits the options in the following order: Y, X, Z

Person C submits the options in the following order: Y, X, Z

Option X receives 7 points (3 + 2 + 2); Option Y receives 8 points (2 + 3 + 3);
Option Z receives 3 points (1 + 1 + 1)

Average for Option X is 2.3 (7 divided by 3); Average for Option Y is 2.7 (8 divided
by 3); Average for Option Z is 1 (3 divided by 3)

The final order of Options is the following: Y (2.7); X (2.3); Z (1)

In case a participant does not rank all the options, the one they did not pick
automatically receives 0 points.
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Mech. Circulatory Support: Knowledge Gaps (75 Votes)

1. Patient selection for optimal outcomes

— 7.76
2. Pre-ECPR treatment for refractory cardiac arrest including ventilation, CPR methods, medications
—— 5.60

3. Logistical, community, and program characteristics that favor different models of ECPR program (Cath lab, ED, Field, etc.)

— 5.29
4. Generalizability, cost-effectiveness, and comparative effectiveness of ECPR compared to other strategies
— 5.16

5. Quantification and prevention of reperfusion injury (e.g. priming solutions, ECPR initiation strategies, goals and precautions,

etc.

D 4.89
6. Methods to increase access to ECPR and impact of ECPR programs on health inequities

D 3.99
7. Best practices for training for ECPR systems of care

C_________________J 3.75
8. Effects of ECPR on organ-specific hemodynamics, injury, and recovery

N 3.59
9. Best practices for neuroprognostication and withdrawal of care

L] 3.37
0. Optimizing ECPR programs for organ donation in patients with poor outcomes

L} 1.99
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Mech. Circulatory Support: Barriers to Translation (58 Votes)

1. Cost and resource limitations impacting ECPR program start-up and sustainability: resource intensive, lack of reimbursement outside the hospital

. ] 8.53
2. Technical and procedural challenges due to vascular access (particularly in pre-hospital settings), technology management, post-arrest care
.} 7.52

3. Required collaboration of pre-hospital/EMS, procedural, and in-hospital care teams despite limited baseline integration. Need for dedication of all
teams.

C______________________________________J 6.12
4. Limited patient population for skill acquisition, maintenance, and research

L) 521
5. Early identification of patients for ECPR

L J an
6. Complexity of research questions and trial design when assessing an entire system of emergent healthcare

C______________________J 4.05
7. Limited availability of ECPR centers resulting in worsened healthcare disparities

L] 3.83
8. Difficulty aligning health system profits with patient treatment goals

L] 3.78
9. skill acquisition and maintenance for EMS and pre-hospital teams

C____________________ J 3.36

10. Insufficient evidence demonstrating effectiveness of ECPR

~
o
o

11. Lack of longitudinal registry reporting institution-specific and system-type specific ECPR data/outcomes

1.88
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Mech. Circulatory Support: Research Priorities (61 Votes)

1. In OHCA patients with refractory shockable/nonshockable cardiac arrest, does prehospital ECPR initiation/rapid transport compared to in-hospital
ECPR initiation improve patient outcome?

6.02

2. For refractory cardiac arrest pts., does implementing a high-performing ECPR system of care (e.g., simplified technique, reduced cost, adaptation
o low resource settings, hub-spoke system) compared to standard system of care improve patient outcomes?

5.53

In patients with refractory cardiac arrest, does the implementation of rapid identification tools compared to standard clinical judgement shorten
the time needed to accurately identify patients who are eligible for ECPR?

4.59

4. INECPR patients, does the implementation of a post-cardiac arrest bundled care that includes accurate neuromonitoring, hemodynamic targets,
‘temperature control, and neuroprognostication compared to no bundled care improve patient outcome?

425

5. Incardiac arrest patients eligible for ECPR, does the implementation of a standardized clinical protocol compared to routine care improve the
ECPR implementation outcomes (e.g., optimal techniques, patient selection) and patient outcome?

3.49

6. In ECPR patients with poor neurologic outcome, does the optimization of organ perfusion compared to standard care increase the rate of organ
procurement without compromising patient care and ethical considerations?

339

7. INECPR patients, does performing physiology-guided CPR compared to non-physiology-guided CPR during cardiac arrest improve patient
outcome?

3.23

8. In cardiac arrest patients eligible for ECPR, does the initiation of ECPR compared to standard care without ECPR or alternative treatment
strategies improve cost-effectiveness?

3.20

9. In EGPR patients, does LV unloading compared to no LV unloading improve patient outcome?

2.66

10. In patients with refractory cardiac arrest, do neuroprotective therapies during CPR extend the therapeutic window of benefit of ECPR compared to
standard care?

1.92




